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& 212,900 3,400 1,700 1,300 1,000 1,300 600 209,500
M= ka7 12,300 1,700 900 800 700 800 300 10,600
MR D PRSI T 10,500 1,300 800 700 600 700 200 9,200
M EETESHER ST 5T 1,800 300 100 200 100 200 100 1,400
MMEZEIEL T 200,600 1,800 800 500 300 500 300 198,900
kX 20,510 330 120 100 80 170 40 20,180
M= ka7 1,040 130 40 50 80 70 10 910
MR PRSI TN 910 110 40 40 70 60 10 800
M EETESHER ST 5T 130 20 — 10 10 10 — 110
MEEZ WL T 19,470 200 80 50 — 90 40 19,260
WX 35,670 680 380 230 70 200 80 34,990
M= ka7 2,550 280 140 120 50 130 40 2,280
MR PRSI TN 2,040 210 130 110 50 70 30 1,830
M EETESHER ST o T2 520 70 20 20 — 60 10 440
M2 WL T 33,120 400 240 110 20 70 50 32,720
X 46,400 590 290 160 260 200 120 45,810
M=z ka7 3,250 260 180 100 110 140 30 3,000
MRS TN 3,020 230 160 90 110 130 20 2,790
M EETESHER ST 5T 240 30 20 20 — 20 10 210
M2 WL T 43,140 340 110 60 150 50 80 42,810
LXK 17,810 280 180 110 90 80 60 17,530
M= Era L7 870 160 90 80 90 50 50 720
MRS T 770 130 60 60 60 40 50 640
M EETESHER S TR 5T 110 30 20 20 20 20 0 80
M2 WL T 16,940 120 90 30 — 30 10 16,820
KEX 21,660 380 200 190 140 170 30 21,280
M=z ka7 1,190 220 140 160 110 110 10 970
MR RS T 1,120 190 120 150 110 100 10 930
M EETESHER S TR 5T 70 30 20 10 — 10 — 40
M2 WAL T 20,470 160 60 30 30 60 20 20,310
[;:]8 11,790 240 130 90 100 90 40 11,550
M= ka7 430 120 70 50 50 70 20 310
MRS TN 370 80 60 40 40 50 10 290
M EETESHER STV 5T 60 40 10 20 10 20 10 30
M2 WA L T 11,350 120 60 30 50 20 20 11,240
wEX 42,680 610 260 260 170 190 130 42,070
M= ka7 2,360 420 230 180 130 130 120 1,930
MRS T 1,820 330 190 140 110 130 90 1,490
M EETESHER S TR 5T 540 100 40 40 20 — 30 440
M2 WL T 40,330 190 30 80 40 60 20 40,140
PEHX 16,410 330 190 140 100 180 90 16,090
M= kA LT 590 100 60 80 80 90 20 480
MM PRSI T 480 80 50 60 70 70 20 400
MRS MRS TR o T2 110 30 10 30 10 30 — 80
M2 WL T 15,830 220 120 60 20 80 70 15,600
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